»
2 Sun

microsystems

Sun StorEdge™ 3000 Family
Rack Installation Guide for
2U Arrays

Sun Microsystems, Inc.

4150 Network Circle

Santa Clara, CA 95054 U.S.A.
650-960-1300

Part No. 816-7320-11
June 2003, Revision A

Submit comments about this document at: htt p: // ww. sun. com’ hwdocs/ f eedback



Copyright © 2002-2003 Dot Hill Systems Corporation, 6305 El Camino Real, Carlsbad, California 92009, USA. All rights reserved.

Sun Microsystems, Inc. and Dot Hill Systems Corporation may have intellectual property rights relating to technology embodied in this product
or document. In particular, and without limitation, these intellectual property rights may include one or more of the U.S. patents listed at
http://www.sun.com/patents and one or more additional patents or pending patent applications in the U.S. and other countries.

This product or document is distributed under licenses restricting its use, copying distribution, and decompilation. No part of this product or
document may be reproduced in any form by any means without prior written authorization of Sun and its licensors, if any.

Third-party software is copyrighted and licensed from Sun suppliers.

Parts of the product may be derived from Berkeley BSD systems, licensed from the University of California. UNIX is a registered trademark in
the U.S. and in other countries, exclusively licensed through X/Open Company, Ltd.

Sun, Sun Microsystems, the Sun logo, Sun StorEdge, AnswerBook2, docs.sun.com, and Solaris are trademarks or registered trademarks of Sun
Microsystems, Inc. in the U.S. and in other countries.

U.S. Government Rights—Commercial use. Government users are subject to the Sun Microsystems, Inc. standard license agreement and
applicable provisions of the FAR and its supplements.

DOCUMENTATION IS PROVIDED “AS I1S” AND ALL EXPRESS OR IMPLIED CONDITIONS, REPRESENTATIONS AND WARRANTIES,
INCLUDING ANY IMPLIED WARRANTY OF MERCHANTABILITY, FITNESS FOR A PARTICULAR PURPOSE OR NONINFRINGEMENT,
ARE DISCLAIMED, EXCEPT TO THE EXTENT THAT SUCH DISCLAIMERS ARE HELD TO BE LEGALLY INVALID.

Copyright © 2002-2003 Dot Hill Systems Corporation, 6305 EI Camino Real, Carlsbad, California 92009, Etats-Unis. Tous droits réservés.

Sun Microsystems, Inc. et Dot Hill Systems Corporation peuvent avoir les droits de propriété intellectuels relatants a la technologie incorporée
dans le produit qui est décrit dans ce document. En particulier, et sans la limitation, ces droits de propriété intellectuels peuvent inclure un ou
plus des brevets américains énumérés a http://www.sun.com/patents et un ou les brevets plus supplémentaires ou les applications de brevet
en attente dans les Etats-Unis et dans les autres pays.

Ce produit ou document est protégé par un copyright et distribué avec des licences qui en restreignent I'utilisation, la copie, la distribution, et la
décompilation. Aucune partie de ce produit ou document ne peut étre reproduite sous aucune forme, par quelque moyen que ce soit, sans
l'autorisation préalable et écrite de Sun et de ses bailleurs de licence, s’il y ena.

Le logiciel détenu par des tiers, et qui comprend la technologie relative aux polices de caractéres, est protégé par un copyright et licencié par des
fournisseurs de Sun.

Des parties de ce produit pourront étre dérivées des systemes Berkeley BSD licenciés par I’'Université de Californie. UNIX est une marque
déposée aux Etats-Unis et dans d’autres pays et licenciée exclusivement par X/Open Company;, Ltd.

Sun, Sun Microsystems, le logo Sun, Sun StorEdge, AnswerBook2, docs.sun.com, et Solaris sont des marques de fabrique ou des marques
déposées de Sun Microsystems, Inc. aux Etats-Unis et dans d’autres pays.

LA DOCUMENTATION EST FOURNIE “EN L’ETAT” ET TOUTES AUTRES CONDITIONS, CONDITIONS, DECLARATIONS ET
GARANTIES EXPRESSES OU TACITES SONT FORMELLEMENT EXCLUES, DANS LA MESURE AUTORISEE PAR LA LOI APPLICABLE,
Y COMPRIS NOTAMMENT TOUTE GARANTIE IMPLICITE RELATIVE A LA QUALITE MARCHANDE, A L'APTITUDE A UNE
UTILISATION PARTICULIERE OU A L’ABSENCE DE CONTREFACON.

K‘m

Adobe PostScript



Contents

Mounting the Array in Racks and Cabinets 1-1
1.1 Overview of Rackmount Kits 1-1

1.2 One-Person Installation Requirements 1-3
1.3  Reviewing the Tools 1-3

1.4 Converting Your Front Bezel Locks So the Keys Cannot Be Removed 1-4

Mounting in Sun Cabinets 2-1
2.1  Overview of Assembly 2-1
2.2 Installing the Array Into a Cabinet 2-5

Telco Rackmounting 3-1
3.1  Flushmount Configuration 3-1

3.2  Center-of-Gravity Configuration 3-5
Powering On and Checking LEDs 4-1

. Mounting Holes in the Sun StorEdge 72-Inch Expansion Cabinet A-1



iv. Sun StorEdge 3000 Family Rack Installation Guide for 2U Arrays * June 2003



CHAPTER 1

Mounting the Array in Racks and
Cabinets

This document describes mounting Sun StorEdge 3000 Family arrays in supported
racks and cabinets. Topics covered in this chapter are:

= “Overview of Rackmount Kits” on page 1-1
= “One-Person Installation Requirements” on page 1-3
= “Reviewing the Tools” on page 1-3

= “Converting Your Front Bezel Locks So the Keys Cannot Be Removed” on
page 1-4

1.1 Overview of Rackmount Kits

For late-breaking news about additional supported racks and cabinets, refer to the
Release Notes for the model of the array that you are installing. You can find the
Release Notes at:

http://ww. sun. coni product s- n- sol uti ons/ har dwar e/ docs/
Net wor k_St or age_Sol uti ons/ Wor kgr oup/

Tip — The instructions in this guide can save you a lot of time if you read them
carefully. The entire assembly procedure should take less than thirty minutes if you
follow all the instructions provided in this guide.

The following table lists the supported cabinets and racks and other required Kits,
the rackmount kits that apply to each one, and the location of the installation
instructions in this guide.

1-1



1-2

TABLE 1-1  Supported Cabinets With Associated Rackmount Kits

Supported Cabinet or Rack

Rackmount Kit
Needed

Installation
Instructions

Sun StorEdge 72-inch Expansion Cabinet s*

SG-XARY030A

Sun Fire Cabinets
SF- XCAB

Sun Rack 900 Cabinet**

SR9-XKLO38A-IP

Telco flushmount racks

Telco center-of-gravity racks

XTA-3310-RK-19L

XTA-3310-RK-19L

XTA-3310-RK-19S

XTA-3310-RK-19F

XTA-3310-RK-19C

“Mounting in Sun
Cabinets” on
page 2-1

“Mounting in Sun
Cabinets” on
page 2-1

“Mounting in Sun
Cabinets” on
page 2-1

“Flushmount
Configuration” on
page 3-1

“Center-of-Gravity
Configuration” on
page 3-5

*The Sun StorEdge 72-inch expansion cabinet requires the X9818A door kit for the Sun StorEdge 3000 Family 2U

arrays.

**The Sun Rack 900 cabinet also requires the X6825A door kit and the X6835A EMI kit with these arrays.

Sun StorEdge 3000 Family Rack Installation Guide for 2U Arrays * June 2003



1.2

One-Person Installation Requirements

Two people should install each array; however, one person can install the array:

= In a Sun cabinet if the rail kit contains rear brackets with flanges that provide
support

= In a Telco rack if the person has an appropriate equipment lift that can ensure
safety and ease of installation

For a one-person installation, you should remove the power supplies and disk
drives to reduce weight and to be safe. If possible, position the array on top of
another device or shelf in the rack to hold the unit as you attach all the brackets.

Caution — If you have only one person to perform the installation in a Sun cabinet
and do not have rear brackets with flanges or special equipment lift, you must
remove the power supplies and hard disk drives from the array before installing the
array in a rack.

To reduce the weight of the array during the rackmounting procedure, refer to the
Sun StorEdge 3000 Family FRU Installation Guide for your array, and follow
instructions on removing drives and power supplies. A fully populated array
weighs over 50 pounds; an array without drives and power supplies weighs about
30 pounds.

1.3

Reviewing the Tools

The following tools are used to complete this procedure:

= Medium Phillips screwdriver
= Allen wrench (provided; used with 6-mm screws and #12-24 x 3/8-inch
sockethead screws)

Caution — Do not use any power tools with any procedures. Power tools can strip
or damage connections.

Chapter 1 Mounting the Array in Racks and Cabinets  1-3



1.4 Converting Your Front Bezel Locks So
the Keys Cannot Be Removed

The bezel on your array has two locks whose keys can be removed when the locks
are in either the locked or open position. It is possible to reconfigure the locks so that
the keys cannot be removed. It is most convenient to make this optional change
when removing the bezel prior to installing the array in a rack or cabinet.

StorEdge 3500

Bezel locks

FIGURE 1-1 Front Bezel and Front Bezel Locks of an Array

To change the locks so the keys cannot be removed, follow these steps:

1. Remove the bezel by gently pivoting the swing arms out of their ear sockets, and
make sure the key is in the locked position, with the pawl extending horizontally
past the edge of the bezel (see the first panel of FIGURE 1-2).

2. Hold the key in place and use a 12-mm or 3/8-inch nut driver to remove the
locking nut that holds the pawl in place, as shown in the first panel of FIGURE 1-2.

Caution — Be sure to hold the key in place. Otherwise there is a risk of breaking the
small tab on the lock that serves as a stop.

3. Lift the pawl off the threaded part of the lock body, as shown in the second panel
of FIGURE 1-2.

4. Set the pawl aside, face up, so that you can remember its orientation when you
replace it.

5. Use the key to turn the lock 180 degrees, as shown in the third panel of FIGURE 1-2

6. Replace the pawl in the same orientation as before, as shown in the fourth panel
of FIGURE 1-2.

7. Hold the key in place and use the nut driver to refasten the locking nut that holds
the pawl in place, as shown in the fifth panel of FIGURE 1-2. Be careful not to cross-
thread the nut.

1-4  Sun StorEdge 3000 Family Rack Installation Guide for 2U Arrays * June 2003



FIGURE 1-2 Sequence of Steps to Change Front Bezel Locks So Keys Cannot Be Removed

Caution — Be sure to hold the key in place. Otherwise there is a risk of breaking the
small tab on the lock that serves as a stop.

8. Replace the bezel.

Note — To convert your bezel locks back so that the keys can be removed, repeat the
preceding steps.

Chapter 1 Mounting the Array in Racks and Cabinets  1-5



1-6  Sun StorEdge 3000 Family Rack Installation Guide for 2U Arrays * June 2003



CHAPTER 2

Mounting in Sun Cabinets

This chapter explains how to mount Sun StorEdge™ 3310 SCSI and 3510 Fibre
Channel arrays by using adjustable mounting brackets for two depth ranges.

The topics covered are:

“Overview of Assembly” on page 2-1
“Installing the Array Into a Cabinet” on page 2-5

2.1 Overview of Assembly

FIGURE 2-1 displays a completed installation of a Sun StorEdge 3000 Family 2U array

in a Sun cabinet. Refer to FIGURE 2-2 during installation.

2-1



ceeeseeeseoso o\

Scsssscssssscssssssssssssssssy

R 4

oo o0o oo oo

W

oo oo 0o o o o/\Ek

FIGURE 2-1 Rackmounted Cabinet Array With Chassis Ears and Bezels Removed, After
Installation

Refer to FIGURE 2-2 during installation.

Note — It is possible for customer-supplied racks to have several sizes of threaded
holes. Rackmount kits have several sizes of panhead screws and sockethead screws
in order to fit these various racks. Sockethead screws are supplied for the front
mounting ears when the diameter of the screw is too large for panhead screws to fit.

2-2  Sun StorEdge 3000 Family Rack Installation Guide for 2U Arrays * June 2003



#10 flat washers and #10-32 x 3/8 or 6-mm panhead screws** (in four places)

Rear bracket connected to rack*

Threaded holes (four)

#10-32 x 3/8-inch panhead or 6-mm sockethead screws**
(in four places)

d

Side bracket

cccccccecccoccccecocooe oo e o o S

Soesscocso\escRNAVEARNssossfsesos sy

#8-32 x 3/16-inch flathead screws (four minimum)

#8-32 x 1/4-inch panhead screws (in four places)

FIGURE 2-2 Cabinet Rackmount (22-Inch to 28-Inch Deep Rack in a Sun Cabinet)
*Flanged rear brackets support the side brackets and enable an easy one-person installation.

**Alternate screws can be used with the appropriate racks: 5-mm panhead screws (front and back), or 6-mm
sockethead screws (front) and 6-mm panhead screws (back).

Chapter 2 Mounting in Sun Cabinets  2-3



Before mounting the Sun StorEdge array into a 19-inch cabinet, check that you have
all the rackmount kit components (TABLE 2-1 or TABLE 2-2) listed for the rack
installation kit you are installing.

TABLE 2-1  XTA-3310-RK-19S 595-6573-02 Rack Kit,2U,19-inch Wide, 22-28 Inches Deep (595-6573-02)

Major Components Fasteners
Qty.  Part Number Description Qty.  Part Number Description
2 71-00000552  Side brackets 16 01-00000006 #8 — 32 x 3/16-in. flathead screws
2 71-00000554 Rear brackets 10 01-09010300 #8 — 32 x 1/4-in. panhead screws
or 10 01-50200300 #10 — 32 x 3/8-in. panhead screws
71-00000621 Rear brackets with 10 02-80002300 #10 — flat washers
flanges** 4  01-00000083 6-mm sockethead screws
4 01-00000084 6-mm panhead screws
10 01-00000093 5-mm panhead screws

1 09-00000064 5-mm Allen wrench for 6-mm sockethead screws

**The U-shaped flanges support the side brackets and eliminate the need for a second person to support
the array while you assemble and tighten the screws.

TABLE 2-2  XTA-3310-RK-19L Rack Kit,2U,19-Inch Wide Cabinet, 28-36 Inches Deep (595-6574-02)

Major Components Fasteners
Qty.  Part Number Description Qty.  Part Number Description
2 71-00000553  Side brackets 16  01-00000006 #8 — 32 x 3/16-in. flathead screws
2 71-00000555 Rear brackets 16 01-09010300 #8 — 32 x 1/4-in. panhead screws
or 10 01-50200300 #10 — 32 x 3/8-in. panhead screws
71-00000622 Rear brackets with 10  02-80002300 #10 washers
flanges™ 4 01-00000083 6-mm sockethead screws
4 01-00000084 6-mm panhead screws
10 01-00000093 5-mm panhead screws

1 09-00000064 5-mm Allen wrench for 6-mm sockethead screws

**J-shaped flanges support the side brackets and eliminate the need for a second person to support the
array while you assemble and tighten the screws.

2-4  Sun StorEdge 3000 Family Rack Installation Guide for 2U Arrays * June 2003



2.2

Installing the Array Into a Cabinet

Be sure to review “One-Person Installation Requirements” on page 1-3 and
“Reviewing the Tools” on page 1-3 before rackmounting the array.

. Determine the position at which the array will be installed.

Install the first array at the bottom of the rack, and install each subsequent chassis
above the previous one.

For additional rack hole information, see “Mounting Holes in the Sun StorEdge 72-
Inch Expansion Cabinet” on page A-1.

Note — Keep all hardware items in plastic bags until you are ready to use them. This
will enable you to correctly identify the screws and avoid confusion.

. Before rackmounting, be sure to check your site location and confirm that you

have cables with adequate lengths to connect to servers and to power outlets.

. Remove the bezel (the front faceplate) and the two plastic ear caps from the front

of the chassis.

Caution — The plastic ear covers are snap-on parts that require some care when you
remove them. Remove the right plastic ear caps carefully to avoid breaking the push
button reset switch that is directly below the ear cap.

To remove a plastic ear cover:

a. Grasp the top of the cover and press it firmly toward the outside of the unit to
disengage a small plastic tab inside the cover.

That is, for the cover on the left side of the array, press it to the left, and for the
cover on the right side of the array, press it to the right.

b. Pull the cover toward you to remove it.

. Attach the side brackets to the left and right sides of the chassis.

Attach up to eight #8-32 x 3/16-inch flathead machine screws on each side to allow
some adjustment to the placement. Make sure you use at least four screws.

Chapter 2 Mounting in Sun Cabinets  2-5



a. Use the alignment marks (depth in inches) stamped into the side brackets to
position the brackets and screws.

Determine the depth you require, and align the last alignment mark on the side
bracket with the last mounting holes on the chassis.

Make sure the alignment mark corresponding to the depth you want lines up
with the top and bottom threaded holes on the side of the chassis closest to the
rear.

C D ) C ) C ) C ) C ) ———

FIGURE 2-3 Side Bracket With Alignment Marks

b. Insert the first two screws on each side through the side bracket slots above
and below the alignment mark and into the last pair of rear threaded holes in
the chassis.

In FIGURE 2-4 the 27-inch alignment mark is positioned above and below the last
pair of rear threaded holes. This positions the array for a 27-inch deep rack.

FIGURE 2-4 Aligning a Side Bracket With the Rear Threaded Holes on the Side of the
Array

Sun StorEdge 3000 Family Rack Installation Guide for 2U Arrays * June 2003



c. Insert up to six other screws through the side bracket slots into the other
threaded holes in the chassis.

5. Use a total of four screws and four washers to attach the rear brackets to the rear
vertical posts (two screws to attach each bracket to a post).

a. Insert a minimum of four #8-32 x 1/4-inch panhead screws through the side
bracket slots and through the rear bracket holes.

b. Attach each rear bracket with two #10-32 x 3/8-inch panhead machine screws
with #10 washers or two 6-mm (or 5-mm) panhead screws.

Rear bracket

%Q@Q\%eeseee:

Side bracket

A minimum of four panhead screws

s o s of

FIGURE 2-5 Rear and Side Brackets Assembled

Use the appropriate type of screws for the posts:

= Four #10-32 x 3/8-inch panhead machine screws with #10 washers
or

= Four 6-mm panhead screws
or

= Four 5-mm panhead screws

6. Lift the chassis and slide the side brackets into the rear brackets, which are
attached to the rear posts.

Adjust the depth of these brackets so that the rear slotted cutouts on the side brackets
align with the four PEM nuts in the rear brackets.

Chapter 2 Mounting in Sun Cabinets  2-7



2-8

7. Attach each side bracket to a rear bracket (see FIGURE 2-5):

10.
11.

To connect the rear brackets and side brackets of a 22- to 28-inch deep rack, use a
minimum of four screws each and up to a total of;

= Eight #8-32 x 1/4-inch panhead screws
= Four #10-32 x 3/8-inch panhead screws
= Four #10 flat washers

To connect the rear and side brackets of a 28- to 36-inch deep rack, use a minimum
of four screws each and up to a total of:

= Sixteen #8-32 x 1/4-inch panhead screws
= Four #10-32 x 3/8-inch panhead screws
= Four #10 flat washers

Attach and secure the array’s front mounting ears with four appropriate screws
(two screws into each ear):

= Four #10-32 x 3/8-inch panhead screws
or

= Four 6-mm sockethead screws
or

= Four 5-mm panhead screws

Remount all drives and power/fan modules into the array.
Reattach the two plastic ear caps and the bezel onto the front of the chassis.

Connect power cables to the chassis, power up, and check for proper operation of
the LEDs.

Refer to “Powering On and Checking LEDs” on page 4-1.

Sun StorEdge 3000 Family Rack Installation Guide for 2U Arrays * June 2003



CHAPTER 3

Telco Rackmounting

This chapter provides the procedure for mounting Sun StorEdge 3310 SCSI and 3510
Fibre Channel arrays with the use of Telco hardware.
The topics covered are:

“Flushmount Configuration” on page 3-1
= “Center-of-Gravity Configuration” on page 3-5

3.1

Flushmount Configuration

Be sure to review “One-Person Installation Requirements” on page 1-3 and
“Reviewing the Tools” on page 1-3 before rackmounting the array.

Refer to FIGURE 3-1 and TABLE 3-1 during installation. TABLE 3-1 lists the major
components and fasteners required to install an array into the Telco 19-inch wide
flushmount racks.

3-1



Side brackets in twoplaces

#8 washers in 10 places

#8-32 x1/4-inch panhead screws

/ in 10 places

Telco rack

#10-32 or #12-32 x 3/8-inch
panhead screws in four places
with #10 or #12 washers or
6-mm panhead screws)

6-mm or #12 sockethead screws in four places
(or 5-mm or #10 panhead screws)

FIGURE 3-1 Flushmount Assembly

3-2  Sun StorEdge 3000 Family Rack Installation Guide for 2U Arrays ¢ June 2003



TABLE 3-1  XTA-3310-RK-19F: Telco Flushmount Rackmount Kit (595-6576-01)

Major Component Fasteners
Qty.  Part Number Description Qty.  Part Number Description
2 71-00000492 Rear brackets 10 01-09010300 #8-32 x 1/4 in. panhead screws

10  28-FLAT-8 #8 washers

01-50200300 #10-32 x 3/8 in. panhead screws
02-80002300 #10 washers

01-00000083  6-mm sockethead screws
01-00000084 6-mm panhead screws
01-00000093 5-mm panhead screws
01-12020300 #10-24 x 3/8 in. panhead screws

© 0 o o0 H» 00 ©©

01-00000092 #12-24 x 3/8 in. sockethead screws

1 09-00000064  Allen wrench*

1 09-00000063  Allen wrench**

*5-mm wrench for 6-mm sockethead screws.
**5/32 wrench for #12-24 sockethead screws.

Perform the following installation steps for a Telco flushmount rack configuration
(see FIGURE 3-1).
1. Determine the position at which the array will be installed.

Install the first array at the bottom of the rack, and install each subsequent chassis
above the one below.

For additional rack hole information, see “Mounting Holes in the Sun StorEdge 72-
Inch Expansion Cabinet” on page A-1.

Note — Keep all hardware items in plastic bags until you are ready to use them. This
will enable you to correctly identify the screws and avoid confusion.

2. Before rackmounting, be sure to check your site location and confirm that you
have cables with adequate lengths to connect to servers and to power outlets.

3. Remove the bezel (the front faceplate) and two plastic ear caps from the front of
the chassis.

Chapter 3 Telco Rackmounting  3-3



Caution — The plastic ear covers are snap-on parts that require some care when you
remove them. Remove the right plastic ear caps carefully to avoid breaking the push
button reset switch that is directly below the ear cap.

To remove a plastic ear cover:

a. Grasp the top of the ear cover and press it firmly toward the outside of the unit
to disengage a small plastic tab inside the cover.
That is, for the cover on the left side of the array, press it to the left, and for the
cover on the right side of the array, press it to the right.

b. Pull the cover toward you to remove it.

4. While supporting the chassis, attach the unit to the Telco rack, using four 6-mm
sockethead screws through the chassis ears.

5. Attach the rear brackets to the left and right sides of the chassis. Use four #8-32 x
1/4-inch panhead machine screws with #8 washers per bracket.

Use the appropriate type of screws for the posts:

= #10-32 x 3/8-inch panhead screws
or

= 5-mm panhead screws
or

= #12-24 sockethead screws
or

= 6-mm panhead screws

6. Reinstall all drive modules and power/fan modules into the array if they were
removed.

7. Reattach (snap) the two plastic ear covers and bezel onto the front of the chassis.

8. Connect the power cables to the chassis, power on, and check for proper operation
of the LEDs.

For details about the LEDs, see “Powering On and Checking LEDs” on page 4-1.

3-4  Sun StorEdge 3000 Family Rack Installation Guide for 2U Arrays ¢ June 2003



3.2

Center-of-Gravity Configuration

Be sure to review “One-Person Installation Requirements” on page 1-3 and
“Reviewing the Tools” on page 1-3 before rackmounting the array.

Refer to the following parts list and FIGURE 3-2 during installation. The following

table lists the major components and fasteners required to install an array into the
Telco 19-inch wide center-of-gravity rack.

TABLE 3-2 XTA-3310-RK-19C: Telco Center-of-Gravity Rackmount Kit (595-6575-01)
Major Components Fasteners
Qty.  Part Number Description Qty.  Part Number Description
4 71-00000491  Side brackets 24 01-09010300 #8-32 x 1/4 in. panhead screws
24 28-FLAT-8 #8 washers
10  01-50200300 #10-32 x 3/8 in. panhead screws
10  02-80002300 #10 washers
10 02-09002340 #12 washers
10 01-00000084 6-mm x 6 panhead screws
10  01-00000093 5-mm x 6 panhead screws
10 01-12020300 #10-24 x 3/8 in. panhead screws
8  01-00000092 #12-24 x 3/8 in. sockethead screws
1 09-00000064  Allen wrench*
1 09-00000063  Allen wrench**

*5-mm wrench for 6-mm sockethead screws

**5/32 wrench for #12-24 sockethead screws

Chapter 3 Telco Rackmounting

3-5



Rear brackets in two places

Eight #8 washers

/

Eight #8-32 x 1/4-inch
panhead screws

Telco rack (total of 16 each)

Front brackets in two places

#10-32 or #12 x 3/8-inch or 6-mm
panhead screws in eight places

Neeecooo0e00

4

AL ~
~
~
N

~
N /
~ -
\\\ It //@
g\\ N /
N ~ -
o ~ N7
~ ~
N ~
~
~ ~
AN Pid
>
/ S
- e

#10 or #12 washers in eight places

FIGURE 3-2 Center-of-Gravity Assembly

3-6  Sun StorEdge 3000 Family Rack Installation Guide for 2U Arrays ¢ June 2003



Perform the following installation steps for a Telco center-of-gravity rack
configuration (see FIGURE 3-2).
. Determine the position at which the array will be installed.

Install the first array at the bottom of the rack, and install each subsequent chassis
above the one below.

For additional rack hole information, see “Mounting Holes in the Sun StorEdge 72-
Inch Expansion Cabinet” on page A-1.

Note — Keep all hardware items in plastic bags until you are ready to use them. This
will enable you to correctly identify the screw sizes and avoid confusion.

. Before rackmounting, be sure to check your site location and confirm that you
have cables with adequate lengths to connect to servers and to power outlets.

. Remove the bezel (the front faceplate) and two plastic ear caps from the front of
the chassis.

Caution — The plastic ear covers are snap-on parts that require some care when you
remove them. Remove the right plastic ear caps carefully to avoid breaking the
push button reset switch that is directly below the ear cap.

To remove a plastic ear cover:

a. Grasp the top of the cover and press it firmly toward the outside of the unit to
disengage a small plastic tab inside the cover.
That is, for the cover on the left side of the array, press it to the left, and for the
cover on the right side of the array, press it to the right.

b. Pull the cover toward you to remove it.

. Attach the side brackets to each side of the chassis:

Allow for the depth of the rack, and allow for the distance you want the chassis to
extend forward in the rack. Attach the front brackets first.

Use up to six #8-32 x 1/4-inch panhead machine screws with #8 washers for each
front side bracket, using the mounting holes available. (Use four screws as a
minimum.) Then mount the front brackets to the Telco rack as explained in step 5.

. Attach the chassis to the Telco rack by inserting eight or more 6-mm screws
through the mounting holes located on both sides of the brackets and into the
frame.

a. Use the appropriate type of screws for the ports:

Chapter 3 Telco Rackmounting  3-7



= #10-32 x 3/8-inch panhead screws with #8 washers
or
= 5-mm panhead screws or #12-24 cap screws

b. Use four #8-32 x 1/4-inch panhead screws with #8 washers for each rear side
bracket.

6. Reinstall all drive modules and power/fan modules into the array if they were
removed.

7. Reattach (snap) the two plastic ear caps and the bezel onto the front of the chassis.

8. Connect power cables to the chassis, power up, and check for proper operation of
the LEDs.

For details about the LEDs, refer to “Powering On and Checking LEDs” on page 4-1.

3-8  Sun StorEdge 3000 Family Rack Installation Guide for 2U Arrays ¢ June 2003



CHAPTER 4

Powering On and Checking LEDs

Perform the initial check of the array according to the following procedure.

1. Connect two AC (or DC) power cables to the power/fan modules on the rear of the
array.

2. Power on the array using both power switches.

3. Make sure all front LEDs turn solid green.

4-1



TN
T

» Power

* Fan

» Temp

e Event

* Reset

T

iz

FIGURE 4-1 Front Panel With LEDs Displayed
Refer to the Sun StorEdge 3000 Family Installation, Operation, and Service Manual for

your array, for more information about how to cable and power on the array and
how to interpret the LEDs.

4-2  Sun StorEdge 3000 Family Rack Installation Guide for 2U Arrays ¢ June 2003



APPENDIX A

Mounting Holes in the Sun StorEdge
72-Inch Expansion Cabinet

The following table lists the bracket mounting holes for installing multiple Sun
StorEdge 3000 Family 2 rack unit (2 RU) arrays in a 72-inch expansion cabinet.

Note — The Sun StorEdge 72-Inch Expansion Cabinet has power connections for up
to eight Sun StorEdge 3310 SCSI and Sun StorEdge 3510 FC arrays.

TABLE A-1  Sun StorEdge 3000 Family SCSI and FC Arrays

Array Front Holes Rear Holes
1 9,12 9,12
2 15, 18 15,18
3 21,24 21,24
4 27,30 27,30
5 33,36 33,36
6 39,42 39,42
7 45,48 45,48
8 51,54 51,54
9" 57,60 57,60
10* 63,66 63,66
11* 69,72 69,72
12* 75,78 75,78
13* 81,84 81,84
14* 87,90 87,90

A-1



TABLEA-1  Sun StorEdge 3000 Family SCSI and FC Arrays (Continued)

Array Front Holes Rear Holes
15* 93,96 93,96

16* 99,102 99,102
17* 105,108 105,108

* These locations can be used only if arrays are not mounted using the holes shown for Arrays 1-8.

Note — The Sun StorEdge Expansion Cabinet (72-inch) is configured with a power
sequencer in the bottom six holes.

A-2  Sun StorEdge 3000 Family Rack Installation Guide for 2U Arrays ¢ June 2003



	Mounting the Array in Racks and Cabinets
	1.1 Overview of Rackmount Kits
	1.2 One-Person Installation Requirements
	1.3 Reviewing the Tools
	1.4 Converting Your Front Bezel Locks So the Keys Cannot Be Removed

	Mounting in Sun Cabinets
	2.1 Overview of Assembly
	2.2 Installing the Array Into a Cabinet

	Telco Rackmounting
	3.1 Flushmount Configuration
	3.2 Center-of-Gravity Configuration

	Powering On and Checking LEDs
	Mounting Holes in the Sun StorEdge 72-Inch Expansion Cabinet

